Mechanics Learning Outcomes 1 – Revision

Revision Questions for the Equations of Motion

ANSWERS

1. Long jumper
a)
i)
s = 0.86 m

a = -9.8 m s-2
Show that vertical velocity (vv) =4.1 m s-1
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ii)


b) If sv < 0.86 m then t is less so vH must be greater.

2. Hitting the Target 
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Target is at 5 m and she throws the dart 5.6 m.

Therefore this is 0.6 m from the target so she gets 5 points.

3. Bridge building
a) [image: image7.wmf]s
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Find vH.

b) [image: image9.wmf](
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Find vV. 




Therefore building B is 50 – 18.12 = 31.88 m tall.

c) Find the resultant velocity.

vH is constant = 5.0 m s-1
Find final vv using
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